Phil 225 -- Symbolic Logic

HW4 

Due 2/24/12

1)
Chapter 5, ex. 2

2)
For each of the following sets of sentences, which of (a) and (b) following the set is a consequence of that set? For the ones that are not a consequence, show that they are not.

  A.
(x)(Fx  (y) – Gxy)

(x)(y)( Hxy  Gxy)

__________________

(a)
(y)(x) – Hxy

(b)
(y)(x) – Hyx

 B.
(x)(y)( Fxy  – Fyx)


(x)(y)( Fxy  (z) Gzy)


(x)(y)(Gxy  Gyx)


(x)(y)(z)((Fxy  Gyz)  (w) Gwy)

    ____________________________________


(a) (u)(v) Guv

(b) (u)(v) Gvu

